PRODUCT:  SPJ-PCL-QR-1ALB

WEIGHT: 286 Ibs
(CUSTOMER TO OFFLOAD IF OVER 6000 Lbs)

CONCRETE COLOR: CONCRETE TEXTURE:
QO QUALHILLRED (O FRENCH GREY (O CRAFTSMANS ETCH
) O NATURAL O BUNGALOW QO STRATA
QUANTITY: O MISSIONWHITE (O ADOBE TAUPE
O LATTE O CUSTOM COLOR
O HARvEsT SEALER: STANDARD SEALER
GENERAL PRODUCT NOTES:

E = EXPOSED FINISHED SURFACE
INSTALLATION IS REQUIRED BY OTHERS.
ALL EDGES TO BE EASED.
MANUFACTURING TOLERANCE +1/4".

SPJLIGHTING Inc.

ARCHITECTURAL LANDSCAPE & OUTDOOR LIGHTING

11°DIA.

PLAN VIEW

|
3/ J—p
(SEE SHEET 2)
51/2 : N GRILL
40 1/4"
) BODY
31174 ™ (SEE SHEET 2)

ELEVATION VIEW

PLAN TYPE

CONSTRUCTION PLAN

PRODUCT

SPJ-PCL-QR-1ALB| BOLLARD | ROUND LIGHTED

PROJECT NAME

DATE

2/6/17

SCALE
11/4" =1
PC.NO

FILENO

SHEET

070_QR_1ALB_103 X

DRAWN BY:

QC ITEM NO

OF

X




1"

t Ji . : 74
‘1 2 1+/2” V\ {
Ls 1/2'4

(2) 1/4" INSERTS

9 15/16" |
SECTION VIEW
CAP
10 1/4°DIA.
7 1/2"DA (4) 1/4" INSERT
("P)
L 534
| DIA. ; e
WEEP HOLE R4 1/16"
/ 21/2" /E\ / T
81/2" 1
N
12"
\vd
1/2°DIA. INSERTS / R
FOR ANCHORING
kv )
BOTTOM VIEW ~— 5 3/8" —] >
BODY ‘
\vd
i !
‘ - 1W. x 1/2°H.
- T
/ N
1/4"
3/
6°1D.
SECTION VIEW
BODY
DATE FILE NO. SHEET
o CONSTRUCTION PLAN 2/6/17  |070_QR_1ALB_203 X
SCi Wi
SPJLIGHTING Inc. PRODUCT SPJ-PCL-QR-1ALB | BOLLARD | ROUND LIGHTED . 1/2/?'LE= . DRA EIBV .
ARCHITECTURAL LANDSCAPE & OUTDOOR LIGHTING
PROJECT NAME _ PC.NO QC ITEM NO. X




INSTALLATION NOTES:

1. CAST-IN OR CORE DRILL (4) 1-1/2"DIA. x 5"DEEP GROUT POCKETS INTO
FOOTING PER ANCHOR BOLT PATTERN (SEE SHEET 2).

2. TAKE (4) 1/2'DIA. x 4-1/2"LONG ANCHOR BOLTS AND THREAD INTO (3) 1/2"DIA.
THREADED INSERTS, LEAVING 3-1/2" OF THE ANCHOR BOLT EXPOSED.

3. FILL ALL GROUT POCKETS W/ NON-SHRINK GROUT. INSERT BOLLARD W/
ANCHOR BOLTS INTO GROUT POCKETS.

4. FOOTING & INSTALLATION BY OTHERS.

SPJLIGHTING Inc.

ARCHITECTURAL LANDSCAPE & OUTDOOR LIGHTING

PRODUCT

PROJECT NAME

SPJ-PCL-QR-1ALB | BOLLARD | ROUND LIGHTED

<4 LIGHT FIXTURE
Lt i 1/4°DA, x 1L 150 HP.S. FIXTURE
f\ v ZNC PLATED (120 V. READY)
T ? ) TAVPERPROOF
_ _|_I |_|_ _ STD. CAP SCREW
| |
GRIL [ [
ELECT. UNIT
/ \
vy GROUND
7 ] AN 1/4DIA. x 1'L.
/ \%_. STANLESS STEEL SCREW
TAPERPROOF
| | STD. CAP SCREW
oo Lo ]
BOTIOM OF LENS 10 - - _ _ _ _ _
BE SILICONED IN' FIELD |
[ — - _ _ _ _ _ _ _
1/4°DIA. INSERT ———
pa
A
<
A
BODY ———=
4,
pa)
1/2°DIA. INSERT —| A
1/2°0A. x 4 1/2'L
ANCHOR BOLT C/
AV
GROUT POCKET o R
(BY OTHERS) s R
HARDWARE LIST : N N
=T AR BYS?I?ER? el LT LT e
1 LIGHT GRILL ( ) HﬁMﬁMﬁMﬁMﬁm MﬁMﬁMﬁmmfmﬂ
1 ACRYLIC LENS IR T
1 LIGHT BULB W/ELECT. UNIT & GROUND SCREW
4 1/4" X 1” ZINC PLATED TAMPER PROOF BOLT
2 1/4" X1 TANPER PROOF S.5. BOLT ELEVATION VIEW
3 1/2"DIA. X 4 1/2"L. BOLTS
DATE FILE NO. SHEET
PLAN TYPE CONSTRUCTION PLAN 2/6/17 070_QR_1ALB_303

X

OF

X

SCALE DRAWN BY:
11/4"=1' -
PC. NO. QC ITEM NO.




	070_QR_1ALB
	070_QR_1ALB_2o3
	070_QR_1ALB_3o3

